WEEK IV - Test
Course: B. Sc. Agri. (H)

Subject: Biopesticides and Biofertilizers  ( AGRI/ELC 06)
Topics: PGPR I
Q. 1 Correct the given statement, if wrong.
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i. Acetobacter diazotrophicus fixes atmospheric nitrogen when inoculated in wheat crop.

ii. Use of biofertilizer in agriculture is very costly and causes pollution, thus it should not be used. 
iii. Phosphate solublizing bacteria excrete alkaline substances that increase the pH in the vicinity of roots which help in the solublization of phosphorous.
iv. Acetobaceter is a sacharophillic bacteria associated with sweet sorghum and fixes 100 kgs/ N/ ha year.
v. Biofertilizers can be stored for long term, thus availability of biofertilisers is not a constraint in biofertiliser production.

vi. Microorganisms that degrading silicates and aluminum silicates excrete several organic acids during metabolism. 

Q. 2  Answer briefly
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i) Differentiate between Biostimulants and Bioprotectants.
ii) Write briefly why Calcium Phosphate is added in Pikovskays’s medium?
Q. 3 Write a detailed note on Acetobacter diazotrophicus.  
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